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Unit 6 — Review

el O

. A bag of 2 red marbles, 4 blue marbles, 3 yellow, and 3 green marbles. A student
reaches into the bag and picks a marble. What is the probability that the marble
is blue or green?
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. A teacher has 9 red crayons, 4 blue crayons, 7 purple crayons, and 5 black
crayons in a basket, find the probability of her picking a blue crayon and then a
black crayon without replacing the first one¢ p(blue and black) without replacement
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. Which pair of events is mutually exclusive?

A. Ride aroller coaster or ride a Ferris Wheel
Choose a red marble or choose a blue marble

C. Picking an ace or a club from a deck of cards.

. What is the probability, as a decimal, that a

. Customers by Gender
randomly chosen person is _ Men Women
a woman, given that she bought something?
P (woman| bought) Bought 7 4 i
il Didn’t Buy 5 9 4
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. A movie company shows its movies fo a
group of viewers before it's released. The Approval by Age Group
results of one showing are in the table below. 18-34 | 35-44 | 45-54
What is the probability of choosing a person Liked 12 1 5 9 |2¢
who is 35-44 and didn't like the movie? Didn't Like | 3 13 8 |71
P(35-44 n didn't like) - §
( ’ 2 " Lo (s 3 171 \sV
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Unit 6 = Review

6. Mrs. Klein surveyed 240 men and 285 women about their vehicles. Of those
surveyed, 155 men and 70 women said they own ared vehicle. If a person is
chosen at random from those surveyed, what is the probability of choosing a

man or a person that owns a red vehicle?
Hint: Draw a two-way frequency table
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7. Write D (Dependent) or | (Independent) for each. Use P(A), P(B), and P(A and B)
_© A P[A)=0.31;P(B) =0.16; P[A and B) =0.071 ‘f ,049¢ Deyp

_ X B. PIA)=0.09;P(B)=0.3;P(AandB) =0.027 = 0277 I

_ X~  C.P(A)=028;P(B)=0.75;P[AandB)=0.21 = , 2| Tn D

_ N D.P(A)=0.15P(B)=0.6; P(Aand B) =0.09 = ¢ 9 T D

8. Find the probability: -
e The probability that a high school senior will go to college is 0.65. \"“‘t‘f
16 e The probability that a high school senior will go to collegee on
campus is 0.42.
What is the probability that a high school senior will live on campus, given that the

person will go to college?  Plandy 7
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Number of Studéhté with at least one.
T : ; of the i‘ollnwing m the:r fam:ly
. 10. In the Venn Diagram at right, how many ; ‘
members are in the set? {brother U sister }
o
\H+d 4T3 42 +27

Brother ' S_lster -;' '

14

_7 [ 11. In the Venn Diagram at right, how many
members are in the set? {Pet Dog}
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Unit 6 — Review
Show All Workl!!

Iy A box of parts contains 10 good items and 4 defective items. "™ ‘¢

/1 qQ 12. If 2 are selected at random with replacement, find the probability that one is
+ 704 defective and the otheris not. P(defective and not defective) with replacement

H g MG . 4o ¢ Lgi P repliggpent = i.f\QLqu\o,lo/\fl—
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(a\  13.If 2 are selected at random without replacing the first, find the probability that
YA they are b‘?’ih de—fjec’rive. P(defeche and defective) without replacing
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A person rolls two dice, one after the other. Find the probability of the following events. al

bt % & 35
14, P(odid sum);;P(sun;greo’retrl’rhonfzjg} \\ : _5"3( T PAPR) - '\’(A(\B}
3¢ T BT g ¢ 3’5@ \ #/1 ?5' iy e— 15t roll s
15. P(even sum) or P(sum of 6) - e 79 T lo A DS,
oy o3 ool a8 37 ol 7 g
et T 36 “5e [z ol 8 e e
16. What is the probability that the sum is less than 8, given the first roll is a 32 ‘(/c‘; @

The governors of three states appoint a crime commission with the numbers shown in
the chart below.

' Male | Female

<511 17.1f the chairperson is randomly selected,

find the probability that the person is a Florida 12 16 7 %
Emaie. iy s . f Alabama| 14 | 18 |+
g4 VA 7 .
" Georgia | 10 14 il
.3 10 18., What is the probability of that person _ ;
being a female given that the 56 1 3 £4
chairperson is knovt\i/n to come from
Florida? o - | [
T e L W atch ‘er over\w?
19. Find the probability of selecting a chairman who is femole@from Georgid.
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20.Are the events being a male and being from Floﬁgu independent of each other?

Show work. Wy qrax ., 286 =119
& el T E e e = N : : ‘

P(Male)= PiMaletGeergia)=___  P(yan &)* (Ind) (Dep.) 5
0
Boys Like Pizza A survey of 200 students was done in the school %

cafeteria. 90 were boys. 120 people surveyed liked -
@ pizza. 50 of the people that liked pizza were boys.

21. Fillin the Venn Diagram to represent this situation.
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7, Use the Venn Diagram of the students that own bicycles and skateboards in Mr. Smith's
5t class to find the following probabilities.
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Bleyele Skateboard
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1§ % 23. Find P(Bicycle u Skateboard)
SHq45

ﬂ{ 24, What is the probability that a student has a bicycle
and skateboard? e iS

In an experiment to study color blindness, the following data was collected.
If a person is selected at random:

c&Y s
%591 25.Find P(Mole) . (obd fea Males | Females | Tofal
_(Whal does the line on top mean?) NOT’{ Color Blind 50 ' I3 5”(0
ANV :
.00 26.Find P{Female r Color Blind) N°;“f'3'°’ 430 582 | /072
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=.577 97 Find P (Female % color Bind) :
~ Fi (Female U Color ln)é-gﬁ/,-tfff-,(!; _,%:3}”(
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‘X101 28.Find P(Female | Color Blind)
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29.0n a given night in March, the probability that it is going to rain is 0.63, the chance
that it is going to rain and snow is 0.17, and the chance that it is going to snow is
0.27. What is the probability that it is going to rain or snow?

PIAUB) = PA) + PIB)-PIANB) | S
Woute Pl 06+ 17 —, 7 = P (L o28)
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30.Suppose that the probability of Bill eating pizza on Friday r‘.@ﬁ*{ﬁ(%%. The
probability of Bill eating pizza(and watching a movie on Friday night is 32%.

Assuming that these events aré dependent of each other, what is the probability
Bill watches a movie on Fridoy ate pizza that night?
P(ANB) 27

25
P(B) !x:-w ‘z.’g" = 5_7,(

P(A|B) =




